Math 232 Calculus 2 Spring 15 Midterm 1la

Name: thM

e I will count your best:8 of the following 10 questions.

e You may use a calculator, and a 3 x 5 index card of notes.
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(2) (10 points) Find / |2* — 4| dz. Draw a picture of the region.
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(3) (10 points) Draw a picture of the region bounded by the curve y = 3sin(z),
for 0 < z < w and y > 0. Write down an integral to give you the volume
of revolution of this region about the z-axis. DO NOT EVALUATE THIS
INTEGRAL.
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(4) (10 points) Use shells to write down an integral for the volume of the cone
formed by rotating the triangle with vertices (0, 0), (0, 1) and (2, 0) about the
y-axis. DO NOT EVALUATE THIS INTEGRAL.
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(5) (10 points) Consider the subset of the plane bounded by y = 4z — 2® in the
first quadrant (i.e. z > 0 and y > 0). Find the volume of revolution of the
3-dimensional shape formed by rotating this region around the z-axis.

t\: qﬁ’l—'lbl.: " (‘-l'- )(.)

discs 1 Av) = “up‘l

* J
J 7 (‘%L-U'\) dv

0

5
D
&
bl

L{
= ’HS et — g:(,‘SJcK»(' Ax
0

g |
" (

»

3

. o 5
ey - 22 +‘L‘LJ
°

(1

<

vt gy W04 >
3

() = LFY



T

(6) (10 points) Find / aln(4z) do. j oy e 5 b il
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(9) Find /sin(Qm) sin(5z) dz.
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